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COHMIXDNDEM [1a5LN] [E~THS  The purpose [aim] of this paper is to ~
IAERLE-WVLDAEIFI~THD The point | want to make is that ~
Bk~ E WS ETHD The question is ~
~NELF- - -ThHhD The point about ~ is « -

Xim |STBEO~NHD There are three kinds of~
TRBIE, SDODEEZHFEINTLVS They may be divided into three types.
Bl ZIE, ~%HIZEIZS, Take~ for example.
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There is good [sufficient, enough,
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[+47%. AEYD] ELH D considerable] evidence to show [prove] that
ZTDEZICRT DN H S, There is evidence against this idea.
BErlEdahb~ The point is that ~
KET, ~LWWS5TEpbhotz It was observed in this section [part] that ~
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OB IR 757] B~EW5ckE This figure [table, graph] indicates that ~
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b DIBRMD, & LS HEEmATED These results led to the conclusion that ~
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%ﬁ'vb\:‘:b\')IEEE(i---é:L\') CETH The reason why~ is that - - *

%& WOEBTEGC-EWNSBEETH not because~but because -« - -
~EWVSIRMT on the grounds that ~
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These results of the experiment were that~
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These [This] came to the conclusion that ~
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These results led to the conclusion that ~
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Today I’d like to talk about ~

~IZ2DOWNWTHEIETLIEEN

Let me tell you something about ~

~DIEFESBLFETH

What do you think of ~ ?
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To start with, .~ First(ly), Second(ly)
Third(ly) (5=I1Z)  Finally ./ Lastly (&
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Next ~ Then

RIZBELE=VLWDIE~

The next thing I’d like to talk about is ~

~[ZBYFEL LD,

Let’s move on to ~

~EWS T EEMIRALEEVTY

I’d like to emphasize that ~
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Take a look at this graph.
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If you look at this graph, you can see ~

MYET
COETIE~EWVNS ZEMBHELMTYT  Inthischart, it is clear that ~
~EHEBLT In comparison with [to] ~

AEBIE~DRTUTWET[EBLGYFT]

A and B are similar [different] in regards to ~

BELEART, AIZ~ZRLTLFET

In contrast to B , A shows ~

—ATE~E, $5—ATIE-1,

On the one hand ~, On the other hand, -~ -

HMRAF~ERLTIND

Graph A indicates ~

KAZ~ZRL TS

Table A shows ~

CDTZTIF~ENWSTEEFRLTWNS

This graph shows that ~
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This graph shows OO will ~
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According to the table, ~
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A points out that ~ A mentions that ~
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For example, ~
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In the present study we found [revealed] ~
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From these results, we conclude that ~
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In summary / To sum up / To summarize / In
short

fEme LT In conclusion

~ZRIFA L THDHKCYFET I’d like to conclude by emphasizing ~
NTHROTLEVEEDYET That's all for my presentation.
ChTROTLE U EEDY £4 That brings me to the end of my

presentation.
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CEEHYNES TTNELT . Thank you for listening [your attention].

fAINEMIEHY FITN? Are there any questions?
ESEEECEMLTL sk ::\z/zse feel free to ask any questions you may
HE-DEMIX~TT &t Your question is ~

~ZEBATUVET | think that ~

WEIXZEZbNFEHAN., #AZZ % E Idon’t think I can answer that question now.
Mo LED, But I'll find out for you later.

BEmEHE CSEEEN Please refer to the handout.

TNIEFAD NI CDOARRETT This is my [our] next research task.
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